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A sealed container has 1 mole of heliumand 2 moles of
nitrogen at 30°C. When the total pressure ofthe mixture is
600 torr, what is the partial pressure of the nitrogen?

A) 100 torr C) 600 torr
B) 400 torr D) 200 tormr

When 7.00 moles of gas 4 and 3.00 moles of gas B are
combined, the total pressure exerted by the gas mixture is
760. mmHg. What is the partial pressure exerted by gas 4 in
this mixture?

A) 760. mmHg C) 76.0 mmHg
B) 228 mmHg D) 532 mmHg
Gases in the amounts shown in the table below were added
to an empty 22.4-liter container at 0°C.
Gas | Quantity (moles)
O, 0.500
N2 0.250
He 0.125

How much argon gas should be added to the container at
0°Cto produce a total pressure of 1.00 atmosphere?

A) 1.12moles C) 0.125 mole

B) 0.375mole D) 2.24moles

A sample of gas is at STP. As the pressure decreases and
the temperature increases, the volume of the gas

A) remains the same

B) decreases

C) increases

The diagrams below represent three 1-liter containers of gas,
A, B,and C. Each container is at STP.

A B C

He O CO

2 2

Which statement correctly compares the number of

molecules in the containers?

A) Container 4 has the greatest number of molecules.

B) Container C has the greatest number of molecules.

C) Allthree containers have the same number of
molecules.

D) Container B has the greatest number of molecules.
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How many moles are in 5.6 liters ofa gas at STP?

A) 1.0mole C) 0.25mole
B) 0.50 mole D) 0.75mole

A sample of nitrogen containing 1.5 x 1023 molecules has
the same number of molecules as a sample containing
A) 0.50 mole of Ne ) 2.0moles of He

B) 0.25mole of Oy D) 1.0 mole of Hy

What is the molecular mass of a gas whose density is
0.76 gram per liter at STP?

A) 44 o 17

B) 28 D) 12

The density ofa gas is 0.77 gram per liter at STP. What is
the formula mass ofthe gas?
A) 34g

B) 17¢g

C) 29¢

D) 85¢g

A sample of an unknown gas at STP has a density of

0.630 gram per liter. What is the gram molecular mass of this
gas?

A) 630g C) l41g-

B) 224¢ D) 281g

The density of NO gas in grams per liter at STP is
approximately

A) 0747 O 134

B) 30.0 D) 15.0

The volume of 16.0 grams of SO,(g) at STP is closest to
A) 1122 C) 5608

B) 44812 D) 2241

Which gas would diffuse most rapidly under the same
conditions of temperature and pressure?

A) gas 4, molecular mass =4

B) gas D, molecular mass = 49

C) gas B, molecular mass =16

D) gas C, molecular mass = 36

At a temperature of 273 K, a 400-milliliter gas sample has a
pressure of 760. millimeters of mercury. If the pressure is
changed to 380. millimeters of mercury, at which temperature
will this gas sample have a volume of 551 milliliters ?

A) 546K C) 100K
B) 273K D) 188K




